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Roll No. [Total No; o B60Rs : 8
CVIS 340 A-2K13
B.Com. VIth Semester Degree Examination
Commerce
(Cost Accounting - II)
Paper - 6.7
Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:
Figures to the right indicate full marks.
wendad esosed FozopTty @gﬁei LREIE TDEINED.

SECTION-A
Pon - &
An-swer any ten of the questions : (10x2=20)
Wetad B, &, 3rivrt susdID.
1.  What is a statement of cost ?
3% Beds T3, doBBed ?
2.  What is cost unit ?
JUYZRT Howdedd ?
3.  Whatis abnormal loss ?
VRINY, I8, H0FdeD ?
4.  What is escalation clause ?
D3SeBR Jobsd douBerd> 7
S.  What is contribution ?
BRdN (20t wAB07) dorderd ?
6.  Give any two features of marginal costing.
©0dN SR D HTW ogmnridw) deRD.
7. Name any two features of standard costing.
IDFFIRT U YT 0D OB frdw) 3920.
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8. iMentlon the types of variances.
%33 ,mwas 3, i&adﬁvﬁ‘b BeYD.
9. Whatdo you Meanby labour cost variance ?
3Rd Iy J:}/I dowded 7
10. What is budgeting ?
Swond 3, 28, IBDIE dorBed ?
11. Whatis Kaizen costing ?
Fopa® Suges, dodderd ?
12. Give any four examples of cost drivers.
557.; Agrddad adng)de oo, wmadﬁmq &RB.
SECTION-B
yen-v
Answer any three of the following : " 3x5=15
3UNT odnHde e I,3r9n wu3dLD. '

13. From the following information Calculate the amount of profit to be transferred to
profit and loss account. v

Notional profit Rs.3,50,000
Estimated profit Rs.3,20,000
Work certified Rs.17,50,000
Contract ;;rice Rs.25,00,000
YN SRBRNDT JAnb3onod, oy-BF 2R3N Srer o wayd FodoRLD.

ONT oY’ dn. 3,50,000
T iA~E AR TA] gw. 3,20,000
3, anedesdad fon dn. 17,50,000
rb3riosh 0e dwe. 25,00,000

14. VRL transport company runs the following buses in the city limits for 30 days in the month.
30 buses of 40 passengers capacity 20 buses of 45 passengers capacity. On an average each
bus makes 5 trips a day covering a distance of 8 kms. In each trip with 80% seats occupied.
Generally 5 buses are kept away from the roads for repairs.

Calculate total passengers kilometers.
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VRL 701 ﬁoﬁ@oﬂn g $9hs urgvn#f&& BNo0E dadedn InBodh 30 DIRYISH
LRI,
40 &, 03»edsd :@Eb[%i-‘ﬁ 30 ud}rhb 45 &, 03»edec :.;amcﬁdrci 20 uﬁorieb =,30d

Ap30 5 30 F,0dneiD3. 5,3 a’ wReHs ded - 8 d.2ve. 3,3 I, o:imaﬁ (trip )
de. 80 dea) Aetdrieh z;armn;s mainas‘aaﬁ 5 mmr‘im Teh d...riq‘?ow 2R0NR
@RS, '

wid), &,000ed50 sdee mewqu vom & B0,
15. Youare given the following data :

Year Sales Profit
2011 Rs.20,000 Rs.2,000
2012 Rs.30,000 Rs.4,000

Find out : s

a) P/v Ratio .

b) Sales required to earn Rs.5,000 profit.

g gl o) m&amag B NG. s
Sar Snostl Ry
2011 4020,000  de.2,000
2012 d».30,000 dwe. 4,000

&1 SYRRYHNYa) sorbRonDd. (s
a) oy - Invsts J,3%m (P/v Ratio)
b) de. 5000 enyindien avUernd INHLWD I3,
16. Prepare a cash budget for the first three months from the following revenues and expenses:

Month Sales Purchases Wages
February 7,00,000 4,40,000 60,000
March 8,00,000 5,60,000 90,000
April 9,60,000 6,00,000 90,000
May 10,00,000 6,80,000 1,10,000
June 12,00,000 6,20,000 1,40,000
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Other information:
a) Cash balance on 1-4-2012 was Rs.3,00,000/-

b) 25% of sales is for cash and the period of credit allowed to customers
for credit sales is one month.

¢) The period of credit allowed by suppliers for credit purchases is two
month.

d) Delay in payment of wages one month.

29NT BERD D) DHENY BPHIWOT IATOT DA dorid BBHAD
Sricd Swonad I3, 303101D.

doneb _ S0 0ot3 Ddeh sRd

$u0,30 7,00,000 4,40,000 60,000

amwe . 8,00,000 5,60,000 90,000

D& OF 9,60,000 6,00,000 90,000

e 10,00,000  6,80,000 1,10,000

2w 12,00,000  6,20,000  1,40,000
930 FP%3neD : ‘

a) 1-4-2012 Gord Srich BT e, UA. 3,00,000.

b) de. 25% Irich INTLNR), WHD FRTLD RS IRBew
™, ®301 wow done ¥IH JedeRNT.

¢) SPoet3MeTB (suppliers) sudd DdeHAD ToR3 SRELD HTED
dorid TSI QeBuRs.

d) BROAD WO Borieh IBTN TSI,

17. Explain five objectives of activity based costing system.

3eDJeIT 33003 a'.a;}d QE 0D 5@30&) A Y] w@céﬁ%ﬁa HI02D.
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SECTION - C

Pon-5
Answer any three of the following: _ Tx 15 =45
addhde e %%ﬁ@ﬁ U3DAD.

18. A Radio manufacturing company finds that in 2012 it costs Rs.3,69,600 to manufacture
600 Radios which were sold at Rs.800 each. Cost was made up of:

Materials Rs.1,20,000

Direct wages Rs.1,80,000

Factory overheads Rs. 36,000

Officeoverheads Rs. 33,600
For the year 2013 the company estimates to sell 900 Radios and;
a) That Radio will require the same cost in material and wages.

b) That the factory overheads will bear the same relation to wages as in the
previous year.

c) That the percentage of office overheiigé on factory cost will be the
same as in the previous year.

Prepare a statement of cost for the year 2013 and find out the estimated
total profit and per unit, if the selling price is enhanced by Rs50 per
radio.

wotd OcRodnd 303ndF RO, 201289 600 dt’&ﬂ&mﬁvd& 3035002
ta;icgﬂaiﬁ@l on. 8006& woT003 JaUell &% i, W 3rdd :32.§s dm.
3,69,600. aSzgdd ARV &ennd.

el MU te.1,20,000
dec 3nd de.1,80,000
soaRsd Degbrned de. 36,000
veied sheeubrerieh dn. 33,600
B8 30% 2013 mds9 900 dc&amrieiai& SRI THO BRO1T, DI
©a) A0BD Jenn BRI dz{i HoDToS AWJTH.
b) Beaseridod ;beegj&.‘.)?ﬂﬁ) P dev spdod 3,30 Lo JAFod

Qo) .
c) BwFd Sud ded FIed Deuird BedEmeth Hoddododhe
QA .
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2013 ONY 8,3 BeBASAT 116 TR, 50 Oaby FIRPY whd), By, B3
dedoded ooy 3peDRE B Qeorod T3 ey 30330029.

The produce of ‘Suman’ concern passes through two processes X and Y and then to finished
stock. It is ascertained that in each process normally, 5% of the total weight is lost and 10%
is scrapped which from process X and Y realises Rs.200 per ton and Rs.400 per ton

respectively.
The following are the figures relating to both the processes:

Process X Process Y

Materials in tons 400 100
Cost of materials per ton (Rs.) 250 400
Wages (Rs.) 2.24,000 40,000
Factory overheads (Rs.) 92,000 18,000
Output in tons 300 350

Prepare process accounts showing cost per ton of each process.

DT ovRE Food JIWF X DI, Y $ abrevatn, FEIFLom
F0mA WIS, I3 I,3,000P0 mIRYPN 5% a8 Fcbeed3D
DD, 10% Fwrb3W 2ot VOTREO SRBRAY. W Jriday X
3,8 0800000 3,3 3a°A 0R. 200 HR.Y 3,8, odavod F,3 WA da.
400 Co3 IRvetserb3s.

SUNS DI0NW B J0dR B,3,000N ZowoR.

X Y
91, mebh, WA N, 400 100
3,3 La° B, DN, B (de.) 250 400
and (dR.) 2,24,000 40,000
uzET 31, (06.) 92,000 18,000
BuEDBLT 37 ied 300 350

a,8 kd@lﬁ HU3 Do 34, 3pedDS 3,5,00 a3riv) 303RDA0.

20. Find out from the following particulars:

1) P/v Ratio

2) BEP

3) Net profit from the sales of Rs. 18,00,000

4) Sales to be effected to eam a net profit of Rs.4,20,000.
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Position of the company for the year 2012.
Sales Rs. 12,00,000
Variable overhead Rs. 9,00,000
Fixed overhead Rs. 90,000
Net profit Rs. 2,10,000
39T HIondord sForddkBDLD.
1) 4.2.0cdkolee (Uoyl/IR0ets I 8RM)
2) 3D 33 Dowd |
3) de. 18,00,000 mainthrith Snoets INBIY I AF Y oo,

4) de. 4,20,000 eryimeridernnd ox) dempoDd RIREID
IRt TIRBUCR.

20128¢ » I3 vozdad Tl JIoned :

IR0 Ve de. 12,00,000
wWEeRTLES 3z, de. 9,00,000
88 Iuy, ge. 90,000

MY oy . 2,10,000

21. From the given data, Caiculate :
1) Labour cost variance o
2) Labour rate variance

3) Labour efficiency variance

from the following data :
Standard time : 3 hours per unit
Standard rate of wages:  Rs.12 per hour
Actual production - 14,000 units
Actualtime taken 40,000 hours
Actual wages :  Rs.5,60,000

U BAUDI IRLIMOT

1) 809 3y 333

2) 400 TJ 323

3) Bed BDFF IV FoBLAWD.
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Pt BB oD - 3 rokdneb F,8 adoAL3N
A HBIW FRIWJ : de. 12 wotd notdn
ASRVCIAT 14,000 ododes® e
303 INBT IG,T rotdried : 40,000 rlokdried
3w B9 (a7’ 3R9): dn. 5,60.000
22. The cost of production at 60% capacity is given below :
Production at 60% capacity : 6,000 units
Material :  Rs.100 per unit
Labour :  Rs.40 per unit
Expenses : Rs.10 per unit
Factory expenses Rs.80,000 (40% fixed) |
Administrative expenses Rs.60,000 (60% fixed) .

Prepare a flexible budget for production at 80% and 100% capacity.
60% IRV U TITD ﬁﬁiﬁf‘% 31l BdeERAG.

60% wINFFT YvHTII ;. 6,000 0doesfried
TN, b : de. 100 3,8 R
3Rd © da. 40 ,3 o3I
DIETI . de. 10 F,3 030N

saRER DWensd dwe. 80,000 (40% ?%U)
fﬂtﬁ%"@%ﬁ Dweneh dr. 60,000 (60% %d)

80% morte 100%0C ma)qiérrﬁs ajaoaira%ai Uua;)cim Swonad I3, ?qc(i_')
TRLO. -

000
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